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Abstract

Through social networks, messages or information can be delivered more speedily or
conveniently. Yet, if we want everyone to get an important message, it has to be done on a one-to -one
basis, and then make people who have known the message let out the specific information so that it is
possible for everyone to obtain the information. So, if we present the message transmission in the
form of a graph by taking every person as a vertex, every single transmitting process as an edge and
then connecting the correlative relation, we can create a meaningful graph. In this case, the less time
consumed and the least edges used, it makes the best graph (also called a minimum broadcast graph).
Finding the best graph(s) is the main purpose of this research.

The previous researches [2][4][6][8][9][10] were only on certain one-to-one basis and there is
only one origin; nevertheless, our research is particularly on combining the minimum broadcast graph
and the two origins hypothesis. In the hope of further extending this theory makes the connection
possible among random origins and on the situation of one-by-many connection from a specific

origin.
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